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In the following questions, two sentences are 
given. There may be an error in the sentence(s).
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QUESTION 1
I. The developments have increased pressure on 
the British government at a crucial time in its Brexit 
negotiations.
II. They begun a massive campaign against 
demonetization and Mr. Modi.

a) If there is an error only in the first sentence
b) If there is an error only in the second sentence
c) If there are errors in both sentences
d) If there is no error in either of the sentences
e) None of the above
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QUESTION 2
I. But the demonetization project formed a much 
larger landscape.
II. Here is an example of how the asset price-led 
growth had hurt real growth.

a) If there is an error only in the first sentence
b) If there is an error only in the second sentence
c) If there are errors in both sentences
d) If there is no error in either of the sentences
e) None of the above
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QUESTION 3
I. Demonetization is an effort to reverse this dangerous 
trend.
II. By unintelligently separating them, it is now chasing 
demonetization depositors from tax.

a) If there is an error only in the first sentence
b) If there is an error only in the second sentence
c) If there are errors in both sentences
d) If there is no error in either of the sentences
e) None of the above
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QUESTION 4
I. The growing number of humorists poking fun at 
official policies have struck a chord among people.
II. A repeat of the huge damage caused by the last oil 
bull market, however, seems unlikely.

a) If there is an error only in the first sentence
b) If there is an error only in the second sentence
c) If there are errors in both sentences
d) If there is no error in either of the sentences
e) None of the above
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QUESTION 5
I. But what this new model is has not been spelt out so 
far.
II. But the regional repercussions of the crisis at home 
are already visible.

a) If there is an error only in the first sentence
b) If there is an error only in the second sentence
c) If there are errors in both sentences
d) If there is no error in either of the sentences
e) None of the above
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Read the following passage and answer the 
questions as directed. There are some blanks given 
in the passage based in which some questions are 
framed, and some words are highlighted as well to 
help you answer some of the questions. 

IBPS PO Prelims Cloze Test Quiz: 16th 

August 2019
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QUESTION 6
Choose a word that fill blank (A) and the following 

sentences meaningfully.

(I)In order to spend some more quality time, Simran 

wants to __________________ her stay in New 

York. 

(II)Unable to deliver the project on time, we have 

asked our client if we can _____________ the 

deadline by one week.

1) Breach 2) Contemplate 3)Extent

4)Extend 5)None of These

The government is in talks with 
foreign lenders to provide $14.5 
billion in credit to millions of small 
firms, two officials said.
The government is in discussions 
with multiple foreign lenders, 
including Germany’s state-owned 
development bank KfW Group, the 
World Bank and some Canadian 
institutions to …………..(A) lines of 
credit to small enterprises, one of 
the officials, who did not want to be 
identified, told Reuters.
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QUESTION 7
The sentence given in (B) has four words given in 

bold. Amongst the given bold words which of the 

followings must replace each other to make the 

sentence contextually correct and meaningful?

1) 2-1

2) 1-4

3) 2-3

4) 1-3

5) 2-4

The government is in discussions 
with multiple foreign lenders, 
including Germany’s state-owned 
development bank KfW Group, the 
World Bank and some Canadian 
institutions to …………..(A) lines of 
credit to small enterprises, one of 
the officials, who did not want to be 
identified, told Reuters. (B) KfW’s
India office (1) support the 
discussions, though the main 
(2)focus was on credit lines to (3) 
confirmed small businesses’ solar 
power (4)generation. The talks were 
at an early stage, KfW said.
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QUESTION 8
In the above passage, sentence (C) is highlighted. 

There may or may not be error in one part of the 

sentence, select the part having error it in.

1) The World Bank’s India

2) Spokesperson did not commented

3) to a email seeking reply.

4) (b) and (c)

5) No error

(C)The World Bank’s India 
spokesperson did not commented to 
a email seeking reply. The official 
said the government plans to source 
up to ₹1 lakh crore of loans from 
foreign institutions because Indian 
banks were not in a position to 
……………(D) enough capital for the 
small business sector, which is seen 
as critical to job creation. “We are 
exploring, we are having discussions 
with various funding agencies if 
something can be done [for small 
and medium firms],” the second 
official said.
The officials did not provide full 
details of the discussions they are 
having with banks, or ………..(E) all 
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QUESTION 9 (C)The World Bank’s India 
spokesperson did not commented to 
a email seeking reply. The official 
said the government plans to source 
up to ₹1 lakh crore of loans from 
foreign institutions because Indian 
banks were not in a position to 
……………(D) enough capital for the 
small business sector, which is seen 
as critical to job creation. “We are 
exploring, we are having discussions 
with various funding agencies if 
something can be done [for small 
and medium firms],” the second 
official said.
The officials did not provide full 
details of the discussions they are 
having with banks, or ………..(E) all 

Which of the following should fill the blank 

given in (D) to make it contextually correct 

and meaningful?

1) Launder

2) Enumerate

3) Provide

4) Evaluate

5) None of the above
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QUESTION 10
Choose a word that fill blank (E) and the 

following sentences meaningfully.

(a) In deficiency of evidences, it became a 

cumbersome task for police to ____________ 

the accused. 

(b)The government must ________________ 

the loopholes in the implementation of its 

schemes enhancing accessibility for those who 

actually need them.

1) Persistent 2) Identify

3) Educate 4) Advertise

5) Perceive

The officials did not provide full details 
of the discussions they are having with 
banks, or ………..(E) all those they are 
talking to, but said talks are at a very 
early stage.
India’s micro, small and medium 
enterprise (MSME) Ministry is discussing 
the proposal — to pull in foreign banks 
— with the Finance Ministry, which will 
make a final call, the second official 
said. The push for foreign loans comes 
on the heels of the government’s 
announcement earlier this month that 
………………………… (F)………….about ₹700 
billion by issuing overseas sovereign 
bonds.
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QUESTION 11
Which of the following phrases should fill 

the blank (F) to make it contextually and 

grammatically meaningful and correct 

respectively?

1) It propose for pulling in foreign banks

2) Full details will not be provided for 

discussions

3) It is planning to source up 1 lakh crore

4) It is not in a position to provide

5) it plans to borrow

The officials did not provide full details 
of the discussions they are having with 
banks, or ………..(E) all those they are 
talking to, but said talks are at a very 
early stage.
India’s micro, small and medium 
enterprise (MSME) Ministry is discussing 
the proposal — to pull in foreign banks 
— with the Finance Ministry, which will 
make a final call, the second official 
said. The push for foreign loans comes 
on the heels of the government’s 
announcement earlier this month that 
………………………… (F)………….about ₹700 
billion by issuing overseas sovereign 
bonds.
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QUESTION 12
The sentence given in (G) has four words 

given in bold. Amongst the given bold 

words, which of the followings must 

replace each other to make the sentence 

contextually correct and meaningful?

1) 1-3

2) 1-4

3) 2-3

4) 2-4

5) 3-4

(G) India’s 63 million (1)economy in the 
micro, small and medium firm sector are 
(2)responsible for more than a quarter 
of the country’s manufacturing and 
services output, and must be (3)re-
energized for the government to kick-
start the (4)firms. (H) Gross domestic 
product growth fell to a five-year low of 
5.8% in the January-March quarter, well 
below the 8%-plus rates that the 
government is targeting.
But credit (I) opportunity for SMEs, 
which also account for about 45% of the 
country’s exports, has worsened due to 
a liquidity crisis in the non-banking 
financial companies (NBFC) sector.
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QUESTION 13
In the given passage, (H) is given in italics. 

There may or may not be an error in one 

part of the sentence. Choose the part 

which has an error in it as your answer.

1) Gross domestic product growth fell

2) to a five-year low of 5.8% in the January-

3) March quarter,

4) well below the 8%-plus rates

5) that the government is targeting.

6) No error

(G) India’s 63 million (1)economy in the 
micro, small and medium firm sector are 
(2)responsible for more than a quarter 
of the country’s manufacturing and 
services output, and must be (3)re-
energized for the government to kick-
start the (4)firms. (H) Gross domestic 
product growth fell to a five-year low of 
5.8% in the January-March quarter, well 
below the 8%-plus rates that the 
government is targeting.
But credit (I) opportunity for SMEs, 
which also account for about 45% of the 
country’s exports, has worsened due to 
a liquidity crisis in the non-banking 
financial companies (NBFC) sector.
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QUESTION 14
A word is given in bold in (I). Choose the 

word which should replace the word given 

in bold to make the sentence correct and 

meaningful. If no change is required, 

choose option (e) as your answer.

1) Availability

2) Accessibility

3) Equanimity

4) Credibility

5) None of these

(G) India’s 63 million (1)economy in the 
micro, small and medium firm sector are 
(2)responsible for more than a quarter 
of the country’s manufacturing and 
services output, and must be (3)re-
energized for the government to kick-
start the (4)firms. (H) Gross domestic 
product growth fell to a five-year low of 
5.8% in the January-March quarter, well 
below the 8%-plus rates that the 
government is targeting.
But credit (I) opportunity for SMEs, 
which also account for about 45% of the 
country’s exports, has worsened due to 
a liquidity crisis in the non-banking 
financial companies (NBFC) sector.
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QUESTION 15
Which of the following words should fill the 

blank in (J) to make it contextually correct and 

meaningful?

1) Aided

2) Calculated

3) Perforated

4) Estimated

5) Emanated

State-owned banks have not been 
able to drive increased lending 
because they are burdened with 
more than $145 billion in bad 
loans. Last month, a study by an 
RBI panel said the overall deficit in 
credit for the MSME sector is 
……….(J) at about ₹20-25 lakh 
crore
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Rearrange the following sentences (A), (B), (C), 
(D), (E) and (F) in the proper sequence to form 
a meaningful paragraph, then answer the 
questions given below them.
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QUESTION 16-20
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